INWENTARYZACJA ISTNIEJACEJ ZIELENI ORAZ GOSPODARKA

INWENTARYZACJA ISTNIEJACEJ ZIELENI GOSPODARKA
Drzewa Y Karczowanie Adaptacja
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(szt.) | (szt) | (cm) (cm) (cm) (m) (m) | (szt) | (m2) | (m2) (szt) | (szt.) | (m2) | (m2) | (szt) | (szt.) | (m2) | (m2)
2 |lipa drzewo 1 2 21 66 82 1
1 19 60 75 1
3 |topola drzewo | 3 1 22 69 86 1
1 16 50 63 1
1 10 31 39 1
4 |topola drzewo| 3 1 9 28 35 1
1 14 44 55 1
5 |topola drzewo 1 1 22 69 86 1
6 [topola drzewo 1 1 17 53 67 1
8 [topola drzewo 1 1 25 79 98 1
9 [$liwa drzewo 1 1 14 44 55 1
10 |sliwa drzewo 1 1 16 50 63 1
11 |topola drzewo 1 1 35 110 137 1
12 |wierzba drzewo 1 1 10 31 39 1
13 |wierzba drzewo 1 1 9 28 35 1
14 |wierzba drzewo 1 1 12 38 47 1
15 |wierzba drzewo 1 1 25 79 98 1
19 |wierzba drzewo 1 1 15 47 59 1
20 [wierzba drzewo 1 1 20 63 79 1
21 [topola drzewo 1 1 28 88 110 1
23 |wierzba drzewo 1 1 33 104 130 1
25 |lipa drzewo 1 1 27 85 106 1
26 |[lipa drzewo 1 1 35 110 137 1
27 |topola drzewo 1 1 26 82 102 1
28 [topola drzewo 1 1 26 82 102 1
29 |[lipa drzewo 1 1 71 223 | 279 1
30 |lipa drzewo 1 1 27 85 106 1
32 |lipa drzewo 1 1 56 176 | 220 1




